Conditional Probability



P(B|A) represents the probability of event B
occurring after it is assumed that event A has
already occurred (read B|A as “B given A.”)
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A survey of middle school students asked: What is your
favorite winter sport? The results are summarized below:

s

Favorite Winter Sport
Grade Snowboarding Skiing Ice Skating TOTAL

6th 68 41 46 155

7th 84 56 % 210

8th 59 74 47 180

TOTAL 211 171 163 545
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A survey of middle school students asked: What is your

favorite winter sport? The results are summarized below:
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Favorite Winter Sport

Grade Snowboarding Skiing Ice Skating TOTAL

6th 68 41 48 456—
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A survey of middle school students asked: What is your
favorite winter sport? The results are summarized below:

s

Favorite Winter Sport
Grade Snowboarding Skiing Ice Skating TOTAL
6th 68 41 46 155
7th 56 70 210
8th @ 74 47 180 D
TOTAL 211 171 163 545
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A survey of middle school students asked: What is your
favorite winter sport? The results are summarized below:

s

Favorite Winter Sport
Grade Snowbearding———=Skiing__ | Ice Skating _| T
6th (68 {%g ) 46 ﬁ%b
7th 84 70 210
8th 59 74 47 180
TOTAL 211 171 163 545
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A survey of middle school students asked: What is your
favorite winter sport? The results are summarized below:
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A survey of middle school students asked: What is your
favorite winter sport? The results are sumr?rized ow:
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Grade Snowboarding Skii Ice Skating TOTAL
6th 68 ca 46 155

7th 84 56 70 210
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If P(4) = 0.43 and P(B | 4) = 0.89, find P(4 and B).
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A box contains three blue marbles, five red marbles, and four white
marbles. If one marble is drawn at random, find:
a) P(blue| not white)

b) P(ced | Not blue
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Q) Plodd) = —

7.3
b) P(prime|odd) = < _
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0. A number is selected, at random, from the set ,@ @8} Find:



